1.

chgol A o] xHgt4

@ y=-5x+2

@ y=3-2x+

® y=(x-2)2-

AN A7

x(1+x)

(x+1)°

@ y=x?-(x-2)?

1
@y=—§x3+l



@ £(0) = -2 ® f(1)=1

@ f(-1)=-1

® f3)=1

@ f(2)=2



®y=x+12-4 [-1]]=>y=-4



x% - 2x -3 of tfi5toq T

S f(x)

4.

@ f(-1)=0 ® f(1)=2

@ £(0)=0

® f(-2)=71

@ f(2)=3



o
&
o
S
Xfo
oln
Y
3
o
<F
R
=
o
o
i
=
S
_
+ o
2X 0t
i
=
-
o <k

@ 1 3 2

3 0



2
(2x+1)? - 4x

@y

(x-D(x+1)

®y=

2
(x+1)2-x

@ vy

2
(2x-2)? +x

® vy



Sl

2 2
2 4 3x+a O IHZAFF A (1, 3), (-1, b)

X

—;——‘:—ab o] ghe Fatolat.



8.

ojxbets y = 222 O] T =7t A 3AEEA 919 A (a, 30) B AL
o], 2q 9] Z}&?

®-3 O3 ® -4 @4 ® -2



9. oAy =ax’ +bxtc7bF A (<L p), (1g) & AHL p-g = -8
o wj, p2 - 3b ©] FHe?

D 2 ® 4 3 6 @ 8 ® 10



o7t H (-3, 9) & A

ax? 9] 18

@ 1 B 2

3 0



